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1. #iE= ZAKe—tROTFS5—
2. %= CAHV-P1180A-N |

3. HE2R#ET (RWANC1-0162 S88)
(M¥RE=(EisE=E)W= 1456 kg
(2)7Uh—K Wk

DR n= 4K

Q442 =M 16

Q—AHT=YDEMTEIE (FERICKDMEIE) A= 2.010 cm2
OHBEREEZEZIBHEEDEIRYEZITLRAIDT/A—K VMRS

X 9.8m/s2 ./ 1000 = 14.3 kN

Nt= 2K
BIFEAMFTEIVERZRELEFTOSS Hg= 77.0 cm
(A BREFTBARMDRI=HVANY L= 66 cm

(B) T AARMMDLRIZKMAPDLNCHEBEDETOER

Lg= 315 cm(Lg=L/2)
4. RETETE
(EZRETAKTEEE Kh= 1.0
(2)HTHREEEE Kv=Kh/2= 05
(B)BEAKTEMESN Fh=KhxW= 143 kN
(4)BEAREMESD Fv=KvxW= 72 kN

(B)TUh—K WhDEIEHRESN Rb
Rb={Fh-Hg— (W—Fv)-Lg}./{L-Nt}

= 6.65 kN
(B)TUn-KIDEAMA Q
Fh/n= 3.58 kN

(7)FUh—KWMZET B HE
@B|-28RYIEHE ©

0 =Rb/A= 3.31 kN cm2<ft=17.6kN.” " cm2
QEAWIGHE T
T=Q//A= 1.78 kN cm2<fs=10.1kN./ cm2
QBI2RY EBAMERIFICZ(TAIEE
fts=14ft—167 = 21.8 kN/cm2
o= 3.31 kN cm2 < fts = 21.8 kN, cm2

(8)TUh—K M DETE(BEXREWERS-EILIESH XR33(iv)ZSEELL,)
Q7K MMNETE = BB THEERTVH—
@avy)-tEE= 150 mm
QR IDEBEHRAARE=
@HFA5 ZHhREHN Ta=

LEDEEKY. TUh—KME+2 R EERTT S,

110
11.7

mm
kN >

Rb= 6.65 kN
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1. #iE= ZAKe—tROTFS5—
2. %= CAHV-P1180A-N |

3. HE2R#ET (RWANC1-0162 S88)
(M¥RE=(EisE=E)W= 1456 kg
(2)7Uh—K Wk

DR n= 4K

Q442 =M 16

Q—AHT=YDEMTEIE (FERICKDMEIE) A= 2.010 cm2
OHBEREEZEZIBHEEDEIRYEZITLRAIDT/A—K VMRS

X 9.8m/s2 ./ 1000 = 14.3 kN

Nt= 2K
BIFEAMFTEIVERZRELEFTOSS Hg= 77.0 cm
(A BREFTBARMDRI=HVANY L= 66 cm

(B) T AARMMDLRIZKMAPDLNCHEBEDETOER

Lg= 315 cm(Lg=L/2)
4. RETETE
(EZRETAKTEEE Kh= 15
(2)HTHREEEE Kv=Kh/2= 0.75
(B)BEAKTEMESN Fh=KhxW= 215 kN
(4)BEAREMESD Fv=KvxW= 108 kN

(B)TUh—K WhDEIEHRESN Rb
Rb={Fh-Hg— (W—Fv)-Lg}./{L-Nt}

= 11.71 kN
(B)TUn-KIDEAMA Q
Fh/n= 5.38 kN

(7)FUh—KWMZET B HE
@B|-28RYIEHE ©

0 =Rb/A= 583 kN cm2<ft=17.6kN.” " cm2
QEAWIGHE T
T=Q//A= 2.68 kN cm2<fs=10.1kN.” cm2
QBI2RY EBAMERIFICZ(TAIEE
fts=14ft—167 = 20.4 kN/cm2
o= 583 kN, cm2 < fts = 204 kN, cm2

(8)TUh—K M DETE(BEXREWERS-EILIESH XR33(iv)ZSEELL,)
Q7K MMNETE = BB THEERTVH—
@avy)-tEE= 150 mm
QR IDEBEHRAARE=
@HFA5 ZHhREHN Ta=

LEDEEKY. TUh—KME+2 R EERTT S,

110
11.7

mm
kN >

Rb= 11.71 kN
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